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| Unit 6 Day 6 and 7: Volume Formula of Cones and Sphergs o Coding
. Focus Question: How are the volume of a cvlinder, cone, and sphere related? -
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A. Find the relationship between the volume of Cylinders, Cones, and Spheres/ g )

1. Take a Guess: A cylinder will fill up a cone with equal radius and height times.

The reality: A
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2. Use the relationshi?estat?l?shed?n #1 and @stitq@@ find the volume formula for 1 cone.
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3. Take a Guess: A sphere will fill up a cone with equal radius and height 3 times.
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. The reality: A |
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4. Use the relationship established in #3 and substitution to find the volume formula for a sphere.
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B. Easy Volume Practice | A
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Find the exact and approximate volume of each shape below.
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C. Tougher Volume Problems — Do work on a separate paper.
A \\
1. The ice cream at the right goes all the way to the tip of the cone. If the
radius of the ice cream is 1.5 inches and the slant height 1s 10 inches,
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I approximately how much ice cream 1s there in a drumstick?
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Spaceship earth at EPCOT in Orlando has a circumference of 507 meters.
Find tbq/ apacﬁy of air for people on the ride.
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3. A navel orang _h_'-ac'ontalnf‘B 382 CUblC centlmeters of orange. What 1s t approxnmate
radlus of the orange? \\ —
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5. Find thc?apprommate /helght of a cone with a Volume of 150 in” and a radius of 6 in.
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